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Q.No: 1 Holstein-Friesian is a native cow of which of the following countries?

2426910
Breda-Yior Fafifea # J g 3 ot &t ma g2
Australia
A
SR
Sweden
B
e
United Kingdom
C
gIges fbrsH
Holland
D
gids

Correct Ans : D

Subject : General Knowledge

Q.No: 2 Andrew Johnson was named the President of US after the assassination of-

2427561
TSg SiTE B [bud! g  SIe 3MRepT BT Apfer i fobar man 41
Abraham Lincoln
A
3fTed o
James Buchanon
B
S GBI
James Monroe
C
S AR
John Tyler
D
S eRIR

Correct Ans : A

Subject : General Knowledge

Q.No: 3 Which of the following is not correctly matched as the winner of the Grand Slam Men's Singles held in 2021?
2430520

Fadamw 2021 % MG s ©W g3y tea o adt gafea 8 82

Australian Open - Novak Djokovic

A
SRR ST - FarP Spiad
French Open - Novak Djokovic
B
9 ST - e Sead
Wimbledon - Matteo Berrettini
(o}

Rraas - Aesi R

D US Open - Daniil Medvedev

Submit

Moderator loggadin.[



quH S - ST Aedda
Correct Ans : C

Subject : General Knowledge

Q-No: 4 Who were the First Prime Minister and First president of India respectively?
2431520

URA & HH: TUH TuEEET SR gy Apufa dH 92

Mahatma Gandhi and Jawahar Lal Nehru

A
HTRH it SR SRR W e
Jawhar Lal Nehru and A.P.J Abdul kalam
B
TATER A1 A5 SR WS fsge am
Indira Gandhi and Dr. Rajender Prasad
C
e e SR S etz TR
Jawahar Lal Nehru and Dr. Rajender Prasad
D

TATER A1 A5 SR ST I00% T

Correct Ans : D

Subject : General Knowledge

Q.No: 5 By which act the East India Company's monopoly on trade in India ended?
2432164

fopg sffam & S 3T Huft &1 URA & AUR R THIASR FA & T

Regulating Act, 1773

A
e sfifam, 1773
Pitt's India Act, 1784

B
fuew $fear uwe, 1784
Charter Act, 1793

c
KR A, 1793
Charter Act, 1813

D

TR 3w, 1813

Correct Ans : D

Subject : General Knowledge

Q.No: 6  With whom do banks deposit cash reserve ratio?

2434056
PG AR U S fFad urg o R4 8 ?
To itself
A
3T T
To finance ministry
B
fomt e & U
To bank board
C
ek i)
To the Reserve Bank
D

foord ¥ & UM
Correct Ans : D

Subject : General Knowledge



Q.No: 7  The book “The Battle of Belonging” was authored by?
2440653

&P "G ded it Rai=iT frad gri fRrdt 7 o
Shashi Tharoor

A
R PR
J.K. Rolling
B
.. AT
Ravish Kumar
C
W FAR
Amish Tripathi
D

ey Brordt
Correct Ans : A

Subject : General Knowledge

Q.No: 8 Who among the following is famous for Carnatic Music tradition?
2440748

Fofafa ¥ § $9 FAffers i wuw ¥ R wiie 82
M S Subbulakshmi

A
T TE gegaedt
Girija Devi
B
fafen &t
Sitara Devi
c
Ryarr &
Rukmini Devi
D

ferof gt

Correct Ans : A

Subject : General Knowledge

Q.No: 9 Dadra folk song is associated with which of the following Indian states?
2440762

a1 e i et 7 4 e vty en | wefia 32

Uttarakhand
A

IS

Uttara Pradesh
B

IW U

Bihar
C

SR

Madhya Pradesh
D

T Y™

Correct Ans : B

Subject : General Knowledge

Q.No: 10 Which is one of the traditional game of Madhya Pradesh?
2440907

T Y F1 URURS T B 1 32



A Badminton

Ysftfet

Swimming

R

Tennis

GiEk

Kho-Kho
G-

Correct Ans : D

Subject : General Knowledge

Q.No: 11 Who is the author of the book “Vaishnav ki Fislan”"?

2441072
UG P fpEe" TS S AGD DI 82
Sharad Joshi
A
TRe S
Mahadevi Verma
B
Heredt aaf
Harishankar Parsai
C
R T
Hazari Prasad Dwivedi
D

TOIRT v fRadt

Correct Ans : C

Subject : General Knowledge

Q.No: 12 In the 14th Century, which of the following cities was the capital of Muslim Sultanate of Malwa?
2441185

143 waredt & Frofered § § S 91 e Tiedl F R Teod Bt ISET a2

Jabalpur
A

SIS

Ujjain
B

I

Gwalior
C

iR

Mandu
D

g

Correct Ans : D

Subject : General Knowledge

Q.No: 13 Beer Singh Deo Mahal is the storeyed palace built entirely on stone in 1614.
2441230

¥R iz 39 7ea 1614 ¥ 78 e ¥ TR R fffa TN #ed g
5



6
C

6

4
D

4

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Qut of the following districts, which is situated to the northernmost position?
2441478

Fafafea ford 7 9 9ed I /I R $H 91 82

Panna
A

oAl

Katni
B

FeR

Jabalpur
C

ST

Mandla
D

T

Correct Ans : A

Subject : General Knowledge

Q.No: 15 Where is the Rajmata Vijayaraje Scindia Krishi Vishwavidyalaya located?

2441500
et fasrer Riftan $i fayfaemey i fua 82
Bhopal
A
T
Sagar
B
R
Gwalior
C
IR
Maheshwar
D
TR

Correct Ans : C

Subject : General Knowledge

Q.No: 16 In which year did MPOnline get the Golden Peacock Award for e-Governance Citizen-Centric Services?
2441519

TSR B §-Tau Rdor-3fed aidie & R e diole s@re feg o firer ur?

2001
A

2001

2004
B

2004

C 2006



2006
2010

2010
Correct Ans : D

Subject : General Knowledge

Q.No: 17 Iseilema laxum grass is found near which of the following areas of Panna Tiger Reserve?
2441541

T e R o & Profefaa 3 9 few & % o 3Rdr deen ur org ot @2

Near water bodies and moist places

A
St Tt SR T R &
Only in the dry regions
B
Faq T A1 H
Spread across all grasslands
C
ot ur & et J e gon
In regions where there are no animals
D

I &5 & gt B ST T §
Correct Ans : A

Subject : General Knowledge

Q.No: 18 Who was the first state election commissioner of Madhya Pradesh?
2441763

T YR ¥ UgA 59 A S B 42
Mr. No. B. Lohini
A
fireR 7. . e
Shri Gopal Sharan Shukla
B
off TiraTer <RoT gE
Mr. Aditya Vijay Singh
C
#t anfe fas Rig
Dr. Ajit Raizada
D

S fcfia e
Correct Ans : A

Subject : General Knowledge

Q.No: 19 Tarang Mel folk dance is related to which of the following states?
2442360

1 A e T i@y § 3 fra e @ gafa @2

Maharashtra
A
HERTY
Goa
B
Tt
Puducherry
c
LSER
Odisha
D
ffE=m

Correct Ans : B



Subject : General Knowledge

Q.No: 20 Which film has received the Best Film award in BAFTA Awards?

2443192
T SASH § 5w fred 31 9diy e &1 [eoR firer 82
No Mad Land
A
TAds s
The Crown
B
G @aT
The Shape of Water
Cc
< A 31 areR
The Father
D
ERgEi

Correct Ans : A

Subject : General Knowledge

Q.No: 21 is the inability of the eye to focus on nearby objects.
2425746

3| F e 1 gl W o g FA A srgmedar 3)

Myopia
A
e = I
Cataract
B
wiferafag
Hypermetropia
C
ey
Amblyopia
D
TeER

Correct Ans : C

Subject : General Science

Q.No: 22 Which of the following is the characteristic feature of the class fungi?

2428031
Frofafed # @ o1 1 $ae @1 sftraafie X &2
decomposers
A
SitoR
autotrophic
B
<qurst
naked seeds
C
T
green leaf like-plants
D

(RIS )

Correct Ans : A

Subject : General Science

Q.No: 23 It is represented by a group of related genera that are more similar to each other than with the genera of other families-
2428801



g Hafdd SR F TP TG GR1 <041 Sl § S 370 URaRT & SR 3t gal & To-gR 9 oifde firad-oed 8-

genus
A
Ciak:
species
B
et
family
(o}
Riicind
kingdom
D
Riet i)

Correct Ans : C

Subject : General Science

Q.No: 24 is/are main gaseous pollutants that deplete the ozone layer in the atmosphere.
2429094

CFCs (Chlorofluorocarbon)

A
ot (FARTARIPTE)
Carbon dioxide
B
FIEA SRS
Nitrogen
C
T
Oxygen
D
fefterT

Correct Ans : A

Subject : General Science

Q.No: 25 Match the following :
2429215

1 | Food chain A | Ascomycetes

2 | Decomposers B | Multiple trophic levels

3 | Food web C | Trophic levels

fFrafefed i fiemg

2 ShuioR B TS Tfthed TR
Le I EEIG] c giftrs R

1.A, 2.B, 3.C

w

1.A, 2.B, 3.C
1.B, 2.A, 3.C

1.B, 2.A, 3.C

1.C, 2.A, 3.B

1.C, 2.A, 3.B
1.A,2.C, 3.B

1.A, 2.C, 3.B



Correct Ans : C

Subject : General Science

Q.No: 26 Abiotic factors that affect biodiversity, by far the most importantis ___

2429258
S fafuer &) vl @R a1 SPfaE FRS, o TP Hed gyl |
Geographic favorability
A
Hrife s
Climate
B
Sietarg
Weather
C
A
Observatory
D
eI

Correct Ans : A

Subject : General Science

Q.No: 27 Ascaris belongs to

2429976
T Wla ¥
Nematoda
A
Awrerst
Platyhelminthes
B
TFh
molluscs
C
T
arthropods
D

smiforgy

Correct Ans : A

Subject : General Science

Q.No: 28 Which carbon contains less than 30% of carbon?
2430062

g T # 30% ¥ HH FTaA ST 82

Anthracite

REe

Lignite
B
fermze
Bituminous
C
fagfrra
Peat
D
die

Correct Ans : D

Subject : General Science

Q-No: 29 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430187 the correct answer to the question from the given options.



Assertion(A):Cut fruits have turned black.

Reason(R):It is mainly due to the oxidation process.

e FafafEd vy F @ FF § S 3 0 31 sifidyar 3R R &1 'SR $ S0 H A9 51 T 31 U 39 I Sl 3 e igdE Sig SR 7 SR T Y et § & uy a1 9t Sw
AP (A) : FE GUHA 1A 1 MY g1

PROI (R) : T T &G ¥ Hfia=01 uiesar & SRl giar g1

Both A and R are true

A

AIRRITEAE

Both A and R are false
B

A 3R R 3 o §

A is true but R is false.
C

A TT{ AfFA R 3 B

A is false but R is true.
D

A 399 § AT R T B
Correct Ans : A

Subject : General Science

Q-No: 30 Identify the non-metal out of the following -

2437145
fafeaa & § arrg &) ugaI -
Phosphorus

A
BRBRY
Copper

B
PR
Tin

C
e
Titanium

D
e

Correct Ans : A

Subject : General Science

Q.No: 31 How many atoms are there in a phosphorus molecule?

2437166
BRERY & 3] A e w813 82
2
A
2
a4
B
a4
5
c
5
6
D
6

Correct Ans : B

Subject : General Science

Q.No: 32 Which of the following metal is not ductile?
2437167



Frafafea F & 3 @ uig o e 82

Sodium
A

fsaH

Copper
B

PR

Tin
c

e

Tungsten
D

A

Correct Ans : A

Subject : General Science

Q.No: 33 Which was the International Decade for Drinking Water & Sanitation?
2439735

e SiR Ewsdl & fiw S awe & W ure

1981-1990
A

1981-1990

1971-1980
B

1971-1980

1961-1970
C

1961-1970

1991-2000
D

1991-2000

Correct Ans : A

Subject : General Science

Q.No: 34 The purest form of water is

2439978
TAF IS ETT_ §
Only Red Sea Water
A
P A AR BT G
Rain water
B
qui-oret
Only dead Sea Water
Cc
Faq T IFR BT o1
River water
D

Eciagcil

Correct Ans : B

Subject : General Science

Q.No: 35 Iodine is discovered in which of the following year?
2440089

Frofifea § @ fow af 4 smiidh 3t d ot 78 ot
A 1811



1811

1900
B

1900

1920
C

1920

1950
D

1950

Correct Ans : A

Subject : General Science

Q.No: 36 X is the husband of P. P is the daughter of A and B. B is the father of P. How A is related to B?

2422448
X, PHUREI P, A R B F GH 21 B, P & a1 1 A, B I 59 yoR Hafda 32
Wife
A
et
Husband
B
ofy
Father
C
frar
Son
D
@

Correct Ans : A

Subject : General Reasoning

Q-No: 37 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as 1
2422671 ghoyld be. Study the given series carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

a__bcaa__ _ _aab__aa__caa__c

ol wy & Rl o ue gaer TS 31 5 Saensh § o 9feR ger U T €, SR ¥ gaa F R e e 4 3 wa # § SR 3% 91 Tiftwl R R e uR e F 3 @ gaa o
ST B AR G F G HeRT F ™ R I8 [(ivey I S Ia8 Suged g

a__bcaa____aab__aa caa__c

abcchbb

abcchbb
accbbb

accbbb
acbcbb

acbcbb
cbcbba

cbcbba
Correct Ans : A

Subject : General Reasoning

Q-No: 38 Choose the correct mirror image/jpg of this combination- UIOR.
2425675

39 WO 31 9 <40 B3 gH- UIOR
A A0



VA0

uAol
B

0)210)

f0IuU
c

A0I1uU

ouIf
D

oulf

Correct Ans : C

Subject : General Reasoning

Q.No: 39 Mohan walked 30 meters towards South, took a left turn and walked 15 meters. He again turned right and walked 20 metres. He again turned right and walked 15 metres. Ho\
2426377 e from the starting point?

g <R Bt iR 30 Hex Te, I o1 3R 15 Hiex 7| 98 fhR Q¢ o1 9k 20 Hiex a1 38 5 & 7o ok 15 Hiex 7| 98 SR fig 4 fham ® 82

95 meters
A

95 Hex

50 meters
B

50 iz

70 meters
C

70 e

80 meters
D

80 Hix

Correct Ans : B

Subject : General Reasoning

(2?‘-"“2‘244202 Select the option /number which is related to 31 number in the same way as 28 number is related to a
1t number?
7:42:12:2

3H TET [RAseT & 990 L A Al TEA ¥ 3H TR FaOd § S gEd 5 ggelr
& ¥ T §

7:42:112:7?

120

120
132

132
144

144
108

108
Correct Ans : B

Subject : General Reasoning

%1[\1209:64613 Ram is standing at the centre of a circular field. Ram walks to north edge of the field. Then turns to the right and walks along the boundary of the field equal to 1/4" of its len:
which direction is Ram from the starting point?



M UF qAFHR AGM F 5 § €1 71 W AH & ITd f5aaR oF ok gaar 31 R o ok goar § iR feM &1 S & wry-ury Iua! darE F 1/4 4T F SRIeR Tadr g1 W IR g @ fee fe

East
A

ks

West
B

ufim

North
c

IR

South
D

Sl

Correct Ans : A

Subject : General Reasoning

Q.No: 42 From the given answer figure, which will complete the pattern in the question figure?
2433174
Question Figure:

%,
%

X%,
%

?

Answer Figures:

SIS 2 B 2
N N B &

(A) (8) (<) (D)

fou MU IR arphodl § §, FH W Wy P F It B @ HEm?
T ATE

N
.\)\\\\

R
SN

ooe

I ATh A4

) % ¥
(a) (8) (€ (D)

A
A

A
B

(o]
C

D
D

D

Correct Ans : A

Subject : General Reasoning

Q.No: 43 Which answer figure will complete the pattern in the question figure?

2433210

Uy i & 3T MY e # $1 W SW ey @ B



N
=
C |
>
AN
=
B
Ay
qm
()
Cc
!
N
.
D
nr

Correct Ans : B

Subject : General Reasoning

Q.No: 44 Select the correct mirror image/jpg of the given figure when the mirror is placed to the right of the figure.
2433234

CAANRCNPA

&S Sl H T qdu By B 9T X oI YU B i B A SR Y fbar o 81
CAANRCNPA
CYVVABCABY

CVVAECADY
CVV/ABCNPA

CYVIAECNPA
LAV OV ELD

LQVOAVLELD
AQVDUNVYD

LQVOINYYD
Correct Ans : C

Subject : General Reasoning

Q-No: 45 Complete the question figure by choosing the best alternative from the answer figure.
2433520

IR MPia H Y Ta9 3 Ay gaax Uy o1Pfa 31 g Fiferw



Correct Ans : B

Subject : General Reasoning

Q.No: 46 A specific analogy is given in the question below. Understand the logic behind it and choose the correct option for the next part:

2434106

-~

i g g o  ww faferg argsa R mar 1 79w I T ad A amE e s E fag

X B4 (44 -

-~

b

H Hed H




b
o

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434924
9:91::15:7?

34 fAHe &1 909 B o et T I 3t UeR HeEfid § S gudt Wen ugeht gen & wEhid §1
9:91::15:7?
240

240
242

242
243

243
241

241
Correct Ans : D

Subject : General Reasoning

Q.No: 48 Identify the class that best represents the Venn-diagram.

2435591
I T B Tea Y Sl -3 BT Y 30T AR P B
Market, Mall, Shop
A
SIWIR, Aid, GO
Pen, pencil, Ink
B
¥, iR, 3%
Qil, Ink, Book
(o}
od, W, fHae
Food, sweet food, salt food
D

Ao, e HieF, TS i
Correct Ans : C

Subject : General Reasoning

Q.No: 49 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?
2438701



>

",

X

@

I T T Y i T a1 R @ 9, A T fFey srpfodl § § $-0 d o iy gefie

A
N
8
e
”
A
e
”
’\'
B
Ny
’\
S
C
N
¥
D

7N

@

Correct Ans : A

Subject : General Reasoning

Q.No: 50 Three of the following four number-pairs are alike in a certain way and one is different. Identify me different one.
2438885

FProfafed ar Fen-gel A 4 7 R Rk def A v g & 99 ¥ SR T s/ 71



B
8:62
HY 4
C
:7
6:34
D
6:34

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Identify the odd one from the following.

2439382
Frofafed & ¥ srivd 3 ugaH 3R
GIK
A
GIK
LNP
B
LNP
Qsu
e
Qsu
vYB
D
vYB

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440296 |ggjcally consistent with the main statement.

If you help her, she will bless you
A. You helped her

B. you did not help her

C. She blessed you

D. She did not bless you.

T ¢ vy F T B SR IWF TG AR FYT §1 FUA 1 A TH T, 5T U6A FUT BT ard] TR FUA G 8, R D FyF afde T F 781 B F 9 8
M 310 FHS! Hae A, o q8 3 sfafe I

A. 307 SUS! HGE Pt

B. MU IUP! Heq T 31

C. I e sn=fai foar

D. I 3! sriare et faam

AB
A

AB

BA
B

BA

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning



Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440306 |ggically consistent with the main statement.

The market will crash if investors withdraw their money
A. The market crashed

B. The market did not crash

C. investors withdrew their money

D. investors did not withdraw their money

T T g § T B SR 9 qE IR B | YT BT BT TH T4, T8 Tgd FYF BT Ao G T 9 B, IR & By aiibe T F 581 FUA J I B
SR A SO TR eI | ST9IR gHeATRG 81 Swn

A. SI6IR GHeATRd §1 T

B. SR gHeATRd el g

C. Fra=ret 3 e S arow & femm

D. Pzt A s T e Feren

AB
A

AB

BA
B

BA

DB
C

DB

CA
D

CA

Correct Ans : D

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440369 |ggically consistent with the main statement.

The Pen is either blue or black
A. The Pen is blue

B. The Pen is not blue

C. The Pen is black

D. The Pen is not black

3T T Uy § BT U SR IS 1% IR BYA &1 YA BT B0 I A, TR Ued YA BT A TR FY 9 8, SR & T A U § T8 $F F T4 B
FeH 1 A e a1 Hre §

A. Tom e §

B. H@H il Tal 8

C. TTH FTA §

D. HEH HTell T8l §
AB

AB
DA

DA
CcD

cD
AC

AC
Correct Ans : B

Subject : General Reasoning



Q.No: 55 In the following question, select the related word from the given alternatives.

2441971
Create : Destroy : : ?: ?
frafafaa uy & e ¢ faeedl # 4 W&fia wes &1 g
GAET: A DA ?2 2 ?
Thin : Small
A
ae : el
Long : Short
B
w2 BT
Fat : Huge
c
et L&)
Long : Topmost
D

A : o SR
Correct Ans : B

Subject : General Reasoning

Q-No: 56 Of the four numbers, whose average is 60, the first is one fourth of the sum of the last three. The first number is:
2422276

TR TEmal # 9, a1 oiad 60 7, Ugeh e, &1 Uw Jrurg § Red o &1 9nm gt e §:

15
A

15

a5
B

as

a8
c

a8

52
D

52

Correct Ans : C

Subject : General Maths

Q.No: 57 Simplify: 425-[58 + {21 = (27+27+9 x2
2429304 SPLLY 5-[58+{21+( )1

TR B 425 - [58 + {21 ~(27-27+9x2)}]

312
A

312

313
B

313

289
C

289

321
D

321

Correct Ans : B



Subject : General Maths

Q.No: 58 Solve:

2428624
{70f13 +646 +2-900+3 +85+ 17 +[45+ 3+ 20f 23 -86 + (261 + 3 + 24 of 6 - 57 of 6)]}
B B
{13D17+646+2-900+3+85+17+[45+3 +23H[2-86+ (261 + 3 + 6 D124 6 - 6 DI 57)]}
-17
A
-17
-20
B
-20
=27
C
-27
37
D
37

Correct Ans : A

Subject : General Maths

Q.No: 59 What value would come in place of the question mark (?) in the following equation?
2428642

24 % of 6400 — 175 % of 7 =486

Frafafea adie<or § uyars g (?) $ A R T1 91 SIwm?

6400 T 24% —? AT 175% = 486

500
A

500

475
B

475

675
C

675

600
D

600

Correct Ans : D
Subject : General Maths

Q.No: 60 Divide Rs 2891700 between Rahul and Ravi in the ratio 12 : 5

2429439
2891700 U3 &I Iga AR I F #7 12 :5 F g F faunfora H¥)
205150,850550
A
205150,850550
2041200, 850500
B
2041200,850500
205100, 850600
C
205100,850600
205000, 850700
D

205000,850700



Correct Ans : B

Subject : General Maths

Q.No: 61 In three numbers, the first is twice the second and thrice the third, if the average of these three numbers is 44, then the first number is:
2432550

& st & vgeh wen gud ot g ok el F R B, Al 57 o gemel o sivvd 44 B, o vedlt e @ 32

65
A

65

70
B

70

72
C

72

65
D

65

Correct Ans : C

Subject : General Maths

Q.No: 62 Two containers contain coffee and tea in the ratio of 4 : 1 and 2 : 1 respectively. The contents of both the containers are poured into a large container to get a new mixture co
2434827 (offee and tea in the ratio 7 : 3, then find in what ratio the contents of two container were poured?

Q HERI & PToT iR TG BT U FAA: 4:1 3R 2:1 1 SIB 3R TG &1 T a1 Y07 7 1 3 & U § W B F g @A SRl 9t aneht Y v 93 SR H ST oI 7, < 91 pifng
SeR Bl A BT {69 Surd | STl T U1

4:3

A
:3
4:1

B
4:1
1:2

C
1:2
1:3

D
1:3

Correct Ans : D

Subject : General Maths

Q.No: 63 A mixture of two liquids X and Y in the ratio 1:6 is present in a tank. When 16L of the mixtures is taken out and 16L of liquid X is poured in the tank, this ratio becomes 3:2. Fi
2434834 fipa) quantity of liquid X contained in the tank.

1: 6 ¥ U F & R el X iR Y &1 iyt v T A dioe 81 o 39 fior § /16 fiex FaTar S § SiR 59 EF H 16 e @xa X ST S 8, @ 9% ST 3: 2 8 9l 81 € H Hivg &
Sife A T Bifod?

18L

18 diex
12L

12 e
8L

8 i
30L

30 diex

Correct Ans : A

Subject : General Maths



Q.No: 64 How many kg. of rice at 42 paisa per kg must a man mix with 25 kg of rice at 24 paisa per kg, so that he may, on selling the mixture at 40 paisa per kg. gain 25% on the outl:
2434845

U@ Afe Y 24 T wlfdsdum $iug o 25 fGdum aaa # fPuaver I 42 3 vlifedum siua ad g 3 B s oy, @fe s Byt 40 T vRifdsdm «w 99 o) aRkeg w 2.
Y I IR a2

15

15
25

25
20

20
22

22
Correct Ans : C

Subject : General Maths

Q.No: 65 In a bag there are three types of coins 1 rupee, 50 paise and 25 paise in the ratio 3:8:20. There total value is Rs 372. The total number of coins is:
2434863

TF 3 H diF UHR- 1 ¥98, 50 T 9IR 25 A F Ryad 3:8:20 & UM A § 13791 $@ T 372 T93 ¢ IRGH! I $a I@m &

1200
A

1200

961
B

961

610
C

610

200
D

200

Correct Ans : B

Subject : General Maths

Q.No: 66 In an exam 2% of students qualified and 98% didn't qualify and 962 students passed. How many students appeared in the exam?
2435192

T Thef 7 2% faendf Sl gu 9iR 98% farendf Sl 72 gu iR 962 fammlf il gui when # fve o IufRea gw?

48,000
A

48,000

48,100
B

48,100

48,200
C

48,200

48,300
D

48,300

Correct Ans : B

Subject : General Maths

Q.No: 67 1If q is proportional to p and q = 23 when p = 5, then what is value of q when p = 22.5?
2435420



U q, pFIIIUN MR q =23 p = 5; A qHFIIF JA H 9d p = 22.5 3

44.7
A

44.7

117.5
B

117.5

103.5
Cc

103.5

95.3
D

95.3

Correct Ans : C

Subject : General Maths

Q.No: 68 If Rs.1200 amounts to Rs.1323 in 2 yrs. at compound interest compounded annually. What will Rs.1600 amount to in 3 yrs. at the same rate?
2437625

Iz 2 A § 1200 T P IR Thgfs & W 1323 TG 8 AR 2, AR =9 aififes w0 § T e 31 A T R W 3 9wl F 1600 U &t IR fHarh & sty

Rs.1780.74
A
1780.74 ¥
Rs.1852. 2
B
1852. 2 ¥q%
Rs.1954.56
C
1954.56 ¥
Rs.1800.34
D
1800.34 ¥0

Correct Ans : B

Subject : General Maths

%1[\13(;96699 What should comein place of question mark in the following number series?

1
V8100

x18 +158 =7

fratafae sear-Jaar § waf=eg (2) F =09 9% F147 A7 9118 q?

1

—— X 18 +158 =7
VB100

13

13
16

16
12

12
18

18
Correct Ans : B

Subject : General Maths

Q.No: 70 A some of Rs.4000 becomes Rs.4500 in 2 year under simple interest. In how many years will Rs.5000 become Rs.5625 under simple interest at the same rate of interest?
2439165



IRV TS & d6d Rs.4000 Bi M & asf & Rs.4500 T Sl 1 frat aof & RO ST BT FHF & W Rs.5000 BT AR Rs.5625 § wwiz

2 year
A

29¢

3 year
B

3af

5 year
C

5ay

Data inadequate
D

S AT §
Correct Ans : A

Subject : General Maths

Q.No: 71 Which of the following cube in the answer figure cannot be made based on the unfolded cube in the question figure?
2433347

B2 B1

IR gl # Fufifed & 3 o9 91 w1, vy el ¥ QA 9 & YR W Ta1 S S Wavdll 82

6 10
A2 Ad
B2 B1
A4
82
6
A
A4
82
6
B2
B1
Ad
B
B2
B1
Al
10
6
A2
C
10
6
A2




10

Ad A2

Ad A2

Correct Ans : A
Subject : Mental Ability

Q.No: 72 A cube is painted and cut into 36 smaller but identical pieces by making the minimum possible number of cuts. How many smaller pieces have exactly three painted faces?
2438404

% 91 H1 Ye faar o § 9l 36 Bie Al THH gHe! # HIeT I 8, P Fel 351 gan §Ha B §1 fan 81 gae § e 3 ¥ g Bed 8?7

12
A

12

8
B

8

36
C

36

24
D

24

Correct Ans : B
Subject : Mental Ability

Q.No: 73 In the following question, correct the equation by interchanging two signs.
2438972

343=7x7-300+43

Frofafea uy 7 9, 58 & W] &1 IR X% TR0 B T8t a1l

343=7x7-300+43

-and =
A

-3k =

+ and -
B

+ 3R -

x and +
C

x AR =+

=and +
D

= 3R =

Correct Ans : D
Subject : Mental Ability

Q.No: 74 In the question given below, some statements are given followed by few conclusions. You have to consider the statements to be true even they seem to be at variance from
2439024 commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

Some songs are not tunes.
All tunes are drums.

Some tunes are sticks.
Conclusions:

I. All sticks are drums.

II. No stick being drum is not a possibility.



1 U T uy ¥ 5B U qUT I 9 $o Ty RUTT E | U 2T T FuA Y Gd AHAT B, U € 98 Ydura auf F e welld 21a € qut S F 3MUR W 3D T JTR AR |
T

D% T 7 T I

ot o 4t E

Fo 47 B3 €l

s

Laft s gH E

IL 3% B A O 3 FH1E T R

If only conclusion I follows

A

afe; Faw P 1 SgeR e 3

If only conclusions II follows
B

afe; Faa fsed 11 SreRr e §

If either conclusion I or II follows
C

Tfe; a1 3t Fspy 1 a1 11 SR el §

If both conclusion I and II follow
D

T frep 1 &R 11 G TR ARa €

Correct Ans : B

Subject : Mental Ability

Q.No: 75 A scores more runs than B but less than C. D scores more than B but less than A. Who is the lowest scorer?

2439496

A B 3P T FT0 Wg C Y HH W &1 D A B I 1P T §90 Tg A ¥ HH ¥ S| e Joll $H T g2

A
A

A
B

c
C

D
D

D

Correct Ans : B
Subject : Mental Ability

Q.No: 76 In an exam, Ravi got higher rank than Mahesh and Ramesh. Naman’s rank is better than Ravi but got less rank than Suresh. Ramesh’s rank is better than Mahesh. Who got the
2439521 hjghest rank?

T Tter B, A B T3 SR I F I ¥ v T 7 ¥ 3T A SoeR B AP W A 51 ¥ v 31 AW A ¥ 1R ¥ AR 71 Wl Yo o e

Ravi
A

M@

Ramesh
B

W

Suresh
C

R

Naman
D

T

Correct Ans : C



Subject : Mental Ability

2422:57770 In a horizontal row of students, Preksha is 14™ from the left end of the row while her friend Suruchi is
10® from the right end of the row. If there are eighteen students in the row, how many students are
standing between Preksha and Suruchi?

TF BE & &fowt Ufda &, Y B ®M UfF F 90 OR § 1431 § Tl Iu! i ol 1 RIF a8 OR ¥ 10a 3| Al ufdd § oeRg o § @ e SR i & 9 fohad om 82

Three
A

ik

Four
B

IR

Five
c

LGt

Six
D

EH

Correct Ans : B

Subject : Mental Ability

Q.No: 78 Which of the following can replace the question mark?

2440586
24]SE, 27KRG, 30LPI,?
1 & § B vy g & ufowifid R g §?
24]SE, 27KRG, 30LPI,?
33MMK
A
33MMK
33MNK
B
33MNK
33MNP
c
33MNP
33MML
D
33MML

Correct Ans : A
Subject : Mental Ability

Q-No: 79 A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

2442269

Frafafea Iw srpfadl ¥ § g 1a SR fF HR e SuR $r ot g, Fied aur Gian & 915 d8 54 anafa St i it




0 N

B
C
o
oo
o
D
o
oo
o

Correct Ans : D
Subject : Mental Ability

Q.No: 80 Identify the odd one from the following.

2442325
(a) (b) (c) (d)
Frofafea # § sriTa 3 ugaH I
(a) (b) (c) (d)
A
d
B
d
C
b
D
b

Correct Ans : D
Subject : Mental Ability

Q.No: 81 Find the wrong term in the given series:
2442509

4,10, 22, 46, 93

&) TS e # e UE [0 B



4, 10, 22, 46, 93

93
A

93

a6
B

a6

22
c

22

10
D

10

Correct Ans : A

Subject : Mental Ability

Q.No: 82 Find the wrong term in the given series:

2442566
56, 61, 66, 71, 76, 81, 91
&t 7 s A e Ug I I
56, 61, 66, 71, 76, 81, 91
61

A
61
71

B
71
91

c
o1
81

D
81

Correct Ans : C
Subject : Mental Ability

Q.No: 83 Which letter will replace the question mark {?) in the following series?
2442932
B.D,G, I, L ?Q

Profifea sraen & 4 1 SRl o1 9gg Uy farg (2) @1 wg o

B.D,G L L?Q

P
A

o
B
C

M
D

N

Correct Ans : D
Subject : Mental Ability

Q.No: 84 Which letter-cluster will replace the question mark ('?') in the following series?
2442965



EZI,FY1,GXK, HWL,?

D A HeR-TGg vy % ('7') B wfaefia wm?

EZI,FY],GXK, HWL,?

MVM
A
MVM
VM
B
VM
JVM
C
JVM
MVN
D
MVN

Correct Ans : B
Subject : Mental Ability

Q.No: 85 Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
2442979

M_OMMN_M_NOMMN_M

&R BT PI-T1 T Wieht WF TR HHIR T § @ T 38R J@ar &1 @ $Em?

M_OMMN_M_NOMMN_M

ONMO
A

ONMO

NOMO
B

NOMO

MONM
C

MONM

NNMO
D

NNMO

Correct Ans : B

Subject : Mental Ability

Q.No: 86 2 4 8 16 232 :
2431994 1+(3+1)(3°+1)(3*+1)(3°+1)(31%+1)(3%*+1) is equal to

AR ¥ 1+(3+1)(32+1)(3*+1)(35+1)(31+1)(3%2+1)

384-1/2
A
3%4-1/2
3%4+1/2
N 64
3%4+1/2
364.1
c 3541
5 36441
38441

Correct Ans : B

Subject : General Aptitude

Q.No: 87 If the side of a cube is triple then how much time its area becomes.
2433786

TS it v 3 yon forget g1 o a1 &arher foban & Sma



A Three times

Giskigl

Four times

AR

Nine times

R
Eight times

31 AT
Correct Ans : C

Subject : General Aptitude

Q.No: 88 A square metal sheet of side 10 cm is folded along its side to form a cylinder. Find its volume.
2433827

10 3t AT arelt TP FGR g Ft <fie B 36F fFAR A WSHR D SeH T11 Sl 81 SHHT a Jid Fiford|

50
A
50
55
B
55
78
C
78
79.4
D
79.4

Correct Ans : D

Subject : General Aptitude

Q-No: 89 Two coins and one dice are thrown together. Find the probability that dice show an odd number.
2434614

<) Ry 3R T U B U 1Y BT STl &1 3BT Trfchar 1 gnfl 3 uren U fawm g e 21

(@] o]
Wik Wk =l 10 ©lw olw

[SY TSR

Correct Ans : D

Subject : General Aptitude

Q.No: 90  Koushik can do a piece of work in x days and Krishnu can do the same work in y days. If they work together, then they can do the work in how many days?
2436106

B it w1 31 x & & o) e B ok vz S o @1 y 37 § aR I 1 it S MAaaR o o3 & 9 39 I B fe 71 § R

(x+y) days
A

(x+y) f&=w
B days

(x+y)



1
(x+y) femr
xy
(x+y)
xy
(x+y)

days

z+y
i days
xy

z+y
= o

Correct Ans : C

Subject : General Aptitude

Q.No: 91 s ' i 2 '
2436114 and B together have 6300. If - of A's amount is equal to - of B's amount. The

amount of 'B" is—

A 3B ¥ T F@ BamT 6300 §1 AR AR Z TR, BA 1 I ¥ W @, @B ¥ 9w R
afr 2

2500

2500
3800

3800
2300

2300
4000

4000

Correct Ans : A
Subject : General Aptitude

Q.No: 92 A school has 8 periods of 45 minutes each, every day. How long will each period be if the school has to have 9 periods every day, assuming the working hours to be the same:
2436120

TF T@d B Ui 45 e & 8 s gi 81 3t wpa o ufifes 9 difvas 81 oiR a5 ameR & o o wom § @ wde divas o e o g

40 min.
A

40 fiFe

35 min.
B

35 fiFe

30 min.
&

30 fiFe

45 min.
D

45 fiFe

Correct Ans : A
Subject : General Aptitude

Q.No: 93 If the radius of circle is increased by 45%, then what will be the percentage increase in its area?
2436828

I g9 Bt B 45% ¢ I 7, A I9F dFwa | nfawa afs w7 Sefe

100%
A
100%
110.25%
B
110.25%

C 120.5%



120.5%
110.5%

110.5%
Correct Ans : B

Subject : General Aptitude

Q.No: 94 The HCF of the two numbers is 23 and their LCM is 323 times the HCF. If one of the numbers lies between 200 and 400, then the sum of the digits of the other number is:
2437881

<) YISt 1 HeTH qHIAd® 23 § IR ST aYTH FHTGS HEH SHddS B 323 TN 21 3f% 37 st # 9 e I 200 9K 400 F &4 2, o gud Tom & oiwt w1 9t o g

14
A

14

18
B

18

17
C

17

15
D

15

Correct Ans : A

Subject : General Aptitude

Q.No: 95 What should come in place of question Mark *?* in the following number series?

2444676
75, 291, 416, 480, 507,
Frefafea wem gear ¥ ue g 2 & WE W R s
75, 291, 416, 480, 507,
515
A
515
532
B
532
511
o
511
521
D
521

Correct Ans : A

Subject : General Aptitude

Q.No: 96 What should come in place of question Mark *?* in the following number series?
2444737

89, 88, 85, 78, 63, ?
Frafarea Se e ® U & 2’ & RIM W &1 S
89, 88, 85, 78, 63, ?

30

30
34

34



36
32

32
Correct Ans : D

Subject : General Aptitude

Q.No: 97 Three married couples are to be seated in a row having six seats in a cinema hall. If spouses are to be seated next to each others, how many total possible ways are there to ¢
2444775 gittings ?

&= farfea SiSt @1 v Rmmela & & dfda & o 1 Al uf-ufd 0 R & WY 38 @ 9% Jor & $a fva i wma 82

A G
5
SR
-

Correct Ans : B

Subject : General Aptitude

Q.No: 98 Two girls and four boys are to be seated in a row in such a way that the girls do not sit together. In how many different ways can it be done?

2444781 3 wafedl oiR OR ASH! & TS Ultd § 39 TR YoM ¢ 6 Tsfeal oy & 71 33 € gg fhan faftm odie! @ i o 9war § 2

A o
B d%0
SR
P 3%

Correct Ans : B

Subject : General Aptitude

Q.No: 99 Tickets numbered 1 to 25 are mixed up and then a ticket is drawn at random. What is the probability that the ticket drawn has a number which is a multiple of 3 or 5?
2444835

19 25 a9 & feadl o fiven fean s 7 oiR R arefess &0 4 o feae FdTan S §1 56! @ e § & e M Ree & te 4 § S 3 91 5 &1 U 77

13
25

13
25

12
25

12
25

11
25

11
25

[LE NS

2
S

Correct Ans : B

Subject : General Aptitude

Q.No: 100 What should come in place of the question mark (?) in the following number series?
2444863
8,6,9,23,87,7?

Frofied Te Jae & UHaEs 0% (7) & RIF R 31 M 9Iig?

8,6,9,23,87,7?



A 429

429
138

138
236

236
334

334
Correct Ans : A

Subject : General Aptitude



